CONDITIONALS.

Zero (obvious) — S.Present X S.Present.

If you fly, you get more flight hours

First Conditional (two actions linked ) — S.
Present + Future / Modals.

If it rains, they will  close the airport
Might
May
Can

Second Conditional ( Unreal at the moment but
possible to happen ) - S. Past + Future / Modals.

If | were the pilot, | would discontinue the approach

Third Conditional ( Real but impossible to come
back — Reqgret! ) — Past Perf. + Would + Have +
Past Participle.

If they had alternated, they wouldn’t "t have overrun the runway



